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Part III — Vocational Subjects
SligLiLienL_ Wlestestemy GlLImpHudlwieo

BASIC ELECTRONICS ENGINEERING
(WD wOHMID hidle eufl / Tamil & English Version )

sme 2fera] : 3.00 wenfl CHyb | [ Qg wHutluarser : 90
Time Allowed : 3.00 Hours | [ Maximum Marks : 90
SVleyenrset : (1) Smarsg elamssErd sflwns udeurdl o drarsm eramugmer FilLITTSEsE

Instructions :

@&Ploy : (i)
(ii)

Note : (1)

(i)

Qs maTemeyd. H&FsILISLED GepullmLiber Sienms seramentlliumerflLb
o | amquinsg Cgfledssal.

(2) Beod Seeg &HmUY @bullomar LLHCL T USDHELD
S 5CamgheusH@n LwearU(Bhss Colamr(Hb. LLBIGET auanFelsnd
Quendled LweT(hSSeLD.

(1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw
diagrams.

U@&3 - I/PART - I
OIS F| HTESHERGGD e Weflésab. 15x1=15

Qarhssliul(Herer wrHm elensafler Wsa|b gHymLw alaLmws

Cambos®hsgs ML HLer el ulamenb Carsg er(pseLb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.
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1. uRél® Hulerig

(1) A(AB)=AAB (=) AB+C)=AB+AC
(Q) A+AB=A () A(BC)=ABC
According to Distributive Law :

(a) A(AB)=AAB (b) AB+C)=AB+AC
(c) A+AB=A (d) A(BC)=ABC

2. Gpumileo wweru@bd ghGseamfl :
(=) eveverws erpGgamf] (=) Bimgian® erHCgpan

(8) Gsmby gHGset (7) aul® ghCsenl
antenna is used in Radar.
(a) Loop (b) Microstrip
(c) Horn (d) Dish
3.  GToLllerd. (pem UFLLg adlen Ll &6 G LD.
(1) 100 kHz (<) 10 kHz (@) 200 kHz (rF) 20 kHz
The bandwidth of FM Transmission is .
(a) 100 kHz (b) 10 kHz (c) 200 kHz (d) 20 kHz

4. Ogreassri fuler SenL bl g rbleisr :

(1) 625 Hz (=) 25 Hz (@) 15625 Hz (FF) 50 Hz

The Horizontal frequency of Television receiver is .

(a) 625 Hz (b) 25 Hz (c) 15625 Hz (d) 50 Hz
5. panL_Gudsl Ul enL SssHler Couamev CFISmg.

(<) 27 MHz (=) 7 kHz (@) 25 MHz (/) 18-20 kHz

Walkie talkie works on bandwidth.

(a) 27 MHz (b) 7 kHz (c) 25MHz (d) 18-20 kHz
6. Cuwbu@sslulL. GPRS eTa MP&SLILIHS D).

(1) 0G (<=y,) EDGE (@) 3G (rF) 2.5G
Enhanced GPRS is called as .
(a) O0G (bp) EDGE (c) 3G (d 2.5G
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Cerermm ___ ssgougsamsl Lweau®hsS Bflear oguier palumasamar
e ildlF Aawenhidlemng.

(=) erdlQymedl (<) WeTSTHSLD

(@) ugevuy WleTgneuTL e () WenCrrad

SONAR works on principle by sending out sound waves under water.
(a) Echo (b) Electromagnetic

(c) Mutual Inductance (d) Electromotive

Blophés euenyeld ererug 0& a9y s5g ude] Qeuubd @

SHeN WG L.
(<) Garmidl (<=y,) eurasieney
(@) Qunens euerLd (F) LU&WbULD

A seismograph is an instrument used to detect and record

(a) Tsunami (b) Weather

(c) Natural resources (d) Earthquake

@@ UGSl WO&F Sl sam) eTen DMPESLILHEIMS).

(@) upon (@) uiiyded (@) @essh () yerafl

The smallest element of an image is called as

(a) co-ordinate (b) pixel (c) digit (d) dot
Lo Grdluediiiyser eTe MRS LILI(HNE T e,

(=) e (<) AT (APLSSHBIGET

(&) AwssD (7) efleaed

Multiple reflections are called as

(a) Resistance (b) Reverberations

(c) Compression (d) Refraction
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11.

12.

13.

14.

DC-DC wrhfl&er ererig)

(1) DC -g AC -ws LIHMmIeIG)

(<) AC - DC -5 Wwrhmieg)

(8) AC -g& Gonsdng

() DC Wlemen(psssans LievGaum ojera eter DC WOaaT(LpSSLoms DTHmeig)
DC-DC Converters

(a) Convert DC to AC
(b) Convert AC to DC

(c) Reduce AC
(d) Convert DC voltage into different DC voltage levels

< MguCGearreiled Qevefliym epsHalmbg Caure L Werssd
Cupliu®&ng.

(=1) 9 (=) 33 (&) 24 (/) S

The voltage received from the output source in Arduino is volts.

(a) 9 (b) 3.3 (c) 24 (d) S

Wemenemiedliied HSFlel Frgambsailen &Mbs esdamsa] o (Heuamyad (M.R.I) ererLig)
BILLUSMSE TTHSS.

() NG (<)) Siwelwunése

(@) sdieigas () Swealudors

In Medical Electronic equipments, Magnetic Resonance Imaging (M.R.I) is a
__________ technique.

(a) Nuclear (b) Ionizing

(c) Radiation (d) Non-Ionising

e @gw cuanyailudey Wempenar CFT@SEeT o erere.

(=) el (<) epemm) (8) vafldyan® (/) BrenE

In Electro Cardio Gram (ECQG) leads are used.

(a) 8 (b) 3 (c) 12 (d) 4
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15. @@ 8 WL ere.§).1q. UgTenessT Hule) LIFMF UGG FLSI&GE EhHSEET
Q0&EE 6UME SMSETTS LTHDLILI(HE TmET.

(<24) Go -l@ps Gy ey (<) Go -l@ps G7 cuany

(&) Go - Gy euany () Go -l Gy euany

In an 8 bit L.E.D. TV, Green colour signal is converted into digital
signals.

(a) Ggto G, (b) Gyto Gy

(c) Ggto Gy (d) Ggto Gy

U@d! - II / PART - II

SO : eTemeuCuienid LISF efeamasEné@ WL Hb elawealdseyb. Seupde eflerm
oTevT 28 -8 SL_LMuwns clleanl_weflgge Couamr(hi. 10x3=30

Note : Answer any ten of the following questions. Question No. 28 is compulsory.
16. aueruUm&sHa D : GHUSGS

Define Encoder

17. @mw crarsafled e erawrenent ereueurm CFLOlGHTD ?

How do you store one bit in binary numbers ?

18. uaTCUODLD — EUETWMISESHELD.

Define modulation.

19. dmy @iy euers — uarGCuDOImss.

Write short notes on MODEM.

20. @ auremadl gniluile ‘anbd’ eer gHUMRSFDG ? ASDSTET EPGTNI &TIJERTEISEN 6T
T(LPSIS.

Why hum occurs in a radio receiver ? Give three reasons for it.

[ Hmluys / Turn over
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21.

22.

23.

24.

25.

26.

27.

28.

uflorHm WPpepDUlleT UMSHENET 6T(LHSIS.

Write the types of transmission modes.

eafl @anps HblAuller cuamsseT WTenal ?

What are the types of Optical Fiber Cable ?

CCTV Sjenwliidlen LIeTgeT eraneuGug)d ppeTdlenat 6T(LpSeLb.

Write down any three uses of CCTV system.

Qealls Qurdludler BeTenlogeT Wirenel ?

What are the advantages of Headphones ?

pseneno/(WPa&Ew Hlenareussdlen LiamLseT G epeThlenet 6T(LPGIs.

Write any three characteristics of primary/main memory.

7805 eranym epetm (pevanse QaTaT Weranpss Frrsduflean UL D euenrHg
penengeflen edlLgmsamer WL (KD eT(PHIS. (SFHmULILLD eumyud Coamaeuudcane)

Draw a three pin voltage regulator 7805 and write the pin details only. (No need

to draw circuit diagram).

e @sw euengaiuier (ECG) LweTUm(H&emeT eT(LpgIs.

Write the advantages of Electro Cardiograph (ECG).

s0&HL 19TNEG0n ghluller ssgieusdamean eT(ps)s.

Write down the principle of Super heterodyning.
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L@ - III / PART - III

SO : eTemeuCuienid @mbg alamss@nsa@ wL(Hb el welsseab. e eferm

Note :

29.

30.

31.

32.

33.

34.

35.

oTewr 35 -&@ SL_Lmuwns el walsse Couant(hibd. Coemeuwimar @)L migafla

LIL_BIGET GUEHTS. 5x5=25

Answer any five questions. Question No. 35 is compulsory. Draw diagrams
wherever necessary.

@\ erarsailey 2 6ter @) FevT(h CTERTHENET cTeleUMn &6 eUTUledleT ALpeuid Fnl LoD
el UL gL ar eleuflEsaib.

If any two bits are to be added, how it can be done through logic gate ? Justify

with necessary diagrams.

wrdl o L ghGseantl LpM eleuflsseib.

Explain Yagi Uda Antenna.

cun@emmed erpliluflen LLCeaum persamer elleufdsa, .

Describe the various abilities of radio receiver.

Grmilesr LWeTgeT wrenel ?

What are the uses of RADAR ?

CCD wpmib CMOS 2 anrieflsamer eULb(Hs.

Compare CCD and CMOS Sensors.

@rss 2psswreaiuler (BP Monitor) Gswdurigamer @Ghss Hm GOILIL 6eT(psis.

Write short notes on the operation of Blood Pressure Monitor.

udlyemeruier aumssamer elleufl&Esa|n.

Explain the types of HOTSPOT.

[ Hmluys / Turn over
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U@3) - IV / PART - IV

GO : Semensg alammssErs@h el waldsaln. Comeuwimar @Lkigaid LLLD
QUM T. 2x10=20

Note : Answer all the questions. Draw diagrams wherever necessary.

36. () PP Fnl & FHMle LILLD cUaTHG 2 aTenld L alanent epeid adlauflé&se]ib.
S|6060F)
(<) Belien L.E.D Qsrenavésm_SHgeafien Srb womibd LipgiLmiggse Lpd eleufléseyib.
(a) Explain Full adder circuit with diagram and truth table.
OR

(b) Explain the resolution and servicing of modern LED TV receivers.

37. (=) gCseanid whg QFunmss Camearser LHH elleuflGsald.

S|6060F)
(=) smil ueasuler WS LGS ser gCasaib mBbdamen OFwied LT (h & EnL e
euf&sab.
(a) Explain about any five artificial satellites.
OR
(b) Explain the functions of any five major motherboard components and their

functions.
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